
MORLEY SPARE PARTS REFERENCE SHEET

PART DESCRIPTION DETAIL PART NUMBER
BATTERY SNAP 4" RED BLACK M05-122315-000

BUMPON ROUND - RUBBER M43-005012-000

COMPONENT DIODE 1N4003 M73-004003-000
COMPONENT DIODE 1N4148 M73-004148-000
COMPONENT DIODE 1N5239B (ZENER) M73-005239-000
COMPONENT IC CD4069 HEX INVERTER M75-004069-000
COMPONENT IC TL071 M75-000071-000
COMPONENT IC TL072 DUAL OP-AMP M75-201272-000
COMPONENT IC TL074 QUAD OP AMP M75-000074-000
COMPONENT INDUCTOR M75-400000-000
COMPONENT TRANSISTOR 2N3904 M71-003904-000
COMPONENT TRANSISTOR 2N4401 M71-004401-000
COMPONENT TRANSISTOR (FET) 2N5484 M71-005457-000

JACK 9V DC POWER M05-092210-000
JACK 1/4" INPUT/OUTPUT M05-092010-664

JACK CHROME NUT 1/4" INPUT/OUTPUT M05-092010-665
JACK COSMEDIC WASHER 1/4" INPUT/OUTPUT M05-092010-666

JACK FIBER WASHER 1/4" INPUT/OUTPUT M05-092010-667

KNOB WITH WHITE LINE M31-031100-001
KNOB WITH GREEN LINE M31-031200-000
KNOB WITH BLUE LINE M31-031300-000
KNOB WITH RED LINE M31-031400-000

LED RED INDICATOR M16-005734-000
LED GREEN INDICATOR M16-005744-000
LED BLUE INDICATOR M16-005754-000
LED RED DIFFUSED M16-000574-000

LDR (LIGHT DEPENDANT RESISTOR) SPECIFY MODEL & PCB POSITION

POTENTIOMETER 10K MINI CHASSIS MOUNT M80-001011-001
POTENTIOMETER 100K MINI CHASSIS MOUNT M80-010011-001
POTENTIOMETER 50K MINI CHASSIS MOUNT M80-010012-000

POTENTIOMETER HARDWARE HEX NUT FOR MINI POTS M80-001011-002
POTENTIOMETER HARDWARE COSMEDIC WASHER FOR MINI POT M80-001011-002

SHUTTER CLW, PWA-II, PWV-II, PDW-II, PVO, PLA M46-190000-001
SHUTTER PBA-2 M46-190000-002
SHUTTER VAI-1, VAI-2, PWO M46-190000-003

SPRING KIT INCLUDES BELOW PARTS 203-222222-222
SPRING COILED M40-845115-521

NYLON SPACER 7/8" M44-500600-000
BOLT 10-32 X 1 3/4" PH ROUND M95-001032-134

WASHER #6 INTERNAL TOOTH LOCK ZINC M97-060023-001
WASHER #10 X .818 OD X .088 THICK M97-100023-002

Created 3/18/02



MORLEY SPARE PARTS REFERENCE SHEET

WASHER NYLON MOLLY M97-600023-001

STICKER TREADLE RED MORLEY M38-000330-000
STICKER TREADLE WHITE MORLEY M38-000330-001
STICKER TREADLE BLUE MORLEY M38-000330-002
STICKER TREADLE GREEN MORLEY M38-000330-003

SWITCH DOUBLE POLE/DOUBLE THROW M08-241315-000

TREADLE RUBBER LARGE M43-191610-000
TREADLE RUBBER SMALL M43-191611-000
TREADLE RUBBER FULL SIZE (CLW) M43-191612-000

Created 3/18/02


